Bonpoc N2l no MamoHTy — Question No.1 on Mammoth/MMC

Bonpoc: MoKHO i1 rpynnmMpoBaTh AaHHble TaKMM 06pa3om, YTO pa3HULLA CTaBOK BKAaZa U
KpeauTta meHble 0,15%, HO pasHMLA CTaBOK MeXAY HECKO/IbKMMM BKNagamm 6onblie 0,15%7?
Hanpumep, aBa BKiaga co ctaskamu 0: n 0,30% 1 oauH Kpegut co ctaBkoi 0,15%.

Question: Can we group the data such that the amount of the deposit and loan have the
different that less than 0.15 % but the different between the amount of deposit themselves is
more than 0.15%7? For example, two deposits with interest rates 0% and 0.30%, and one loan
with interest rate 0.15%.

OTBeT: HeT, TaK rpynnmMpoBaTb HeNb3A. B «rpynne HETTMPOBAHMAY» KaXKAbl KOHTPAKT A0/IKEH
OT/IM4aTbCA OT Ntoboro apyroro B 3ToM rpynne He 6onee yem Ha 0,15% no cTaBKe U He bonee
yem Ha 30 gHel No CpPoKy.

Answer: No, you cannot group the data in this way. In a netting set, each contract should differ
from any other contract in the set by no more than 0.15% in interest rate and no more than 30
days in period.

Bonpoc N22 no MamoHTy — Question No.2 on Mammoth/MMC

Bonpoc: s Yero B TabanLe yKasaH CPOK NoraweHnsa? B yCnoBMM He CKa3aHOo, YTO ero Hy»KHO
YUYnTbIBATb, TAM YKa3aHO, YTO KpUTEPUEM ABNAETCA UL AaTa NoraweHus.

Question: What is the period given in the data-table for? In the problem statement, it is not
said that it should be used; it states only the expiration date as the criterion.

OT1BeT: YKa3aHHbI CPOK NoraleHns — 3TO NPOCTO KOAIMYECTBO AHEN, NPOLLEALWNX CO
«cTapToBOM gaTbl» 22.03.2018 A0 AaThl NOralleHUA COOTBETCTBYHOLWEN CAENKU. TaKum
obpas3om, nosie «CPOK NoralleHMaA» Hag0 UCMOAb30BaTb ANA ONpeaeneHma PasHULLbl CPOKOB
CAeNIoK. ITo None NpeaoCcTaBNeHO AR COKPALLEHMA «TEXHNYECKOM» paboTbl y4aCTHUKOB.

Answer: The period given in the table is simply the number of days from the “starting date”
22.03.2018 till the expiration date of the respective contract. Thus, the “period” field should be
used to determine the difference in periods of contracts. This field is provided in order to
minimize “technical” work of the participants.

Bonpoc Ne3 no MamoHTy — Question No.3 on Mammoth/MMC

Bonpoc: B gokymeHTe, B KOTOPOM A0/KHbI ObITb AaHHbIE Ha 3 MecALa, UMEeHTCA AaHHble
TO/IbKO Ha 2 mecsua. 9To oWwnbka?



Question: In the document which should have the 3-months data, there are data only for 2
months. Is it an error?

OTBeT: HeT, 370 He owWwmnbKa. ITOT AOKYMEHT COAEPKUT CAENKM CPOKOM «OT 1 mecaua ao 3
mecaues». JaHHble A0 1 mecaua cogepkatca B Apyrom daine, Ho UX He Haao obbeanHATb. K
[AaHHbIM 13 Pa3HbIX GaioB NPUMEHAIOTCA Pa3Hble BECA Wyross U Whet COTIACHO TabMLE B
YCNOBUW 334aun.

Answer: No, it is not an error. The document comprises the contracts with period “from 1
month to 3 months”. The data for under 1 months are in another file, but you should not merge
them. Different weights wg,ss and wy,e: should be applied to the data from different files, in
accordance with the table in the problem statement.

Bonpoc N24 no MamoHTy — Question No.4 on Mammoth/MMC
Bonpoc: YTo 03Ha4aeT oTpuLaTenbHbl NPOLEHT?

Question: What does the negative interest rate mean?

OTBeT: B cOBpeMeHHO 3SKOHOMWYECKOM PeasibHOCTM CNYYatOTCA KOHTPUHTYUTUBHbIE CUTYaLMN,
KOrZa CTaBKW AENCTBUTENbHO OTPULLATENbHbI (T.€., HANPUMeEp, He BaHK NNATUT KANEHTY 3a
BK/1aZ, @ HA06OPOT KANEHT — BaHKy). Ho Ha rpynnMpoBKY CAE/M0K B paMKax KHETTUHra» 3To
HUKaK He BAMAET: BKIag nog -0,1% MOXKHO «HeTTUpoBaTb» C Kpeautom nog 0,02%, a BKiag nog,
-0,14% — y»Ke HeT.

Answer: In the current economic situation, there are counterintuitive situations when interest
rates are really negative (i.e., for example, it is not the bank who pays the client for a deposit,
but it is vice versa: the client pays the bank). But it has absolutely no effect on netting
groupping: you may net a deposit at -0.1% with a loan at 0.02%, but you may not do it for a
deposit at -0.14%.

Bonpoc Ne5 no MamoHTy — Question No.5 on Mammoth/MMC

Bonpoc: Kak rpynnmMpoBaTb 3N1€MEHTbI, KOTOPbIe BXOAAT B HECKO/IbKO rpynn? (Jonyctum,
cTaBKa bynet 0,2% u 0,4%. B KaKyto rpynny BcTaBuTb cTaBKy 0.3%7)

Question: How do we group elements that are members of several groups? (For example, the
interest rate is 0.2% and 0.4%. What group does the rate of 0.3% go to?)



OtBeT: O4MH 31EMEHT (CAenKa) MOXKET BXOAUTb TO/IbKO B ogHY rpynny. Caenky co ctaskoi 0,3%
MOXHO rpynnuposatb 1 ¢ 0,2%, n c 0,4%, Ho He c obenmn ogHoBpPeMeEHHO. PazbueHune
noptdena Ha «rpynnbl HETTUPOBAHMA» BO3MOXKHO MHOXECTBOM Pa3HbIX CNOCOHOB.

Answer: One element (contract) may be a member of only one netting set. The contract with
0.3% rate may be grouped with either the 0.2% contract, or 0.4% contract, but not with the two
simultaneously. There are a lot of possible partitions of the portfolio into netting sets.

Bonpoc N26 no MamoHTy — Question No.6 on Mammoth/MMC

Bonpoc: YTo NponcxoamuT ¢ 0CTaTOUYHbIMKM NaccuBammu/akTMBamm nocsie HeTMpoBaHna? OHU
[06aBNAOTCA KaK OTAeNbHOE CaraeMmoe Uamn BXOAAT B 06LLYH0 CYMMY NaccMBoB/aKTUBOB?

Question: What happens to the residual assets/liabilities after netting? Are they added as an
independent addendum, or they join the overall sum of assets/liabilities?

OTBeT: CDopmyna ana RWA cuntaetca gna scex OCTaTOUYHbIX I'IaCCVIBOB/aKTMBOB nocne
HETUPOBaAHUA. 2 AKTHUB B HEN — 3TO CYMMa BCEX OCTATO4YHbIX aKTUBOB, a Z [laccuB — 3To CymMmma
BCeX OCTAaTO4YHbIX NAaCCNBOB.

Answer: The RWA formula is calculated over all residual assets/liabilities. )} Assets in it is the
sum of all residual assets, and Y, Liabilities is the sum of all residual liabilities.



